= o
A & 0l & AF 2 E A A
S S04 LBSA HEIIE L
PRI
HE=xEZ
CRSEPAEFS] (22 &d)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 96,296,039 94,294,682 2,001,357
= 57,014,021
Xl 200,000
J| 750,918
< 15,235,335
Al 23,095,765
PN 1,794,495 2,248,392 AN 453,897
= 278,727
J| 564,986
< 292,583
Al 658,199
PN 1,139,608 1,626,800 ANA487,192
= 278,727
J| 311,467
< 166,526
Al 382,888
HEI=EFH 22 X 27,084 27,084 0
201 2Bt | 19,084 19,084 0
01 At 22l 19,000 19,000 0
OB =+=EH| 12,000
oMRES ¥ HUFH A2FFY
12,000, 000& 12,000
O= &l 7,000
o HAJI=EZHM HRFA 7,000,000& 7,000
02 2229 84 84 0
OZS2SZLMA 84
oWARZF 84,000& 84
202 Odl 8,000 8,000 0
01 = LH 4 Hi 8,000 8,000 0
OWEIIIEZY gRF2 8,000,000 8,000
e EXISd MY =& 58,650 58,650 0
201 Let24E] 23,000 23,000 0
01 At 2t 2l 11,000 11,000 0
O2E==EH| 7,100
o HEHRFA AMARES P& 2,100,000& 2,100
o B (LS 0, 858 ¥ =)
EE2EE 7Y &€ MH 5,000,000& 5,000
O2Z+¢ 2,900
o XHUSARS FAE 1,400,000 1,400
o ZHML NS (LSS L0, &= HEZ
) BArg 1,500,000 1,500
O= &l 1,000
o HdPR=& 1,000,000 1,000
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g d=1sd
@2 Hg=Exsd CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A2 Z Hl 12,000 12,000 0
ONEEH ZNE 10,000, 000& 10,000
OWEAAS A AL 2,000,000& 2,000
202 O4dl 2,750 2,750 0
01 = LH 4 Hi 2,750 2,750 0
o6gge =2 2,750,000& 2,750
301 et A= 13,500 13,500 0
09 &AL HIZ &S 13,500 13,500 0
O&= HdUa 424 1,000,000 1,000
O&= WHEXEA s 424 1,000,000 1,000
O=2 s ZA=Y 10,000, 000& 10,000
O SAES 4 B4 1,500, 000& 1,500
307 glz2tol & 19,400 19,400 0
11T M SRASEEX 19,400 19,400 0
OLEESF2 JISd8AM L oSS
8,100,000& 8,100
OAME 20| LS| 3,600,000& 3,600
OAMEWN 2ELIsZH 3,000,000& 3,000
02V HAE 425 BS)| A5 Y &
XA gorset” 4,700,000 4,700
YA EHEUH(EX) 13,150 13,150 0
= 3,600
Al 9,550
307 21201 A 13,150 13,150 0
= 3,600
Al 9,550
11 ALS S XAEE = 13,150 13,150 0
OWLEX AS2A3AY 13, 150, 000& 13,150
< 3,600
Al 9,550
HEZSEANEZH 25,820 619,500 A 593,680
201 L4l 15,820 9,500 6,320
01 At 2t 2l 6,820 5,500 1,320
OBt~ 1,320
o HAEJI=EZS el ROUHHE ALY 2
Z 55,0003 200 2 *12J4 & 1,320
O &= 4,000
o IHZISIEZAl HNYL=S A2S
4,000,000& 4,000
O2Z 1,500
o HEZISZA ZHAAS 29K
1,500, 000& 1,500
02 23=24gl 5,000 0 5,000
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DNEETIENEL 5,000
0 EIIZESE AESX 5,000,000 5,000
03 A2 H 4,000 4,000 0
OWAZISITA NEZHZE 38 4,000,0002 4,000
202 04| 1,500 1,500 0
01 2ol 1,500 1,500 0
OUAZSITA AREZ 1,500,000 1,500
301 Yt A2 6,500 6,500 0
09 BALAHI B A2 6,500 6,500 0
OUHZSITA 29 B4 1,500,000 1,500
ONAZSXNEA DELS2 5,000,0008 «13] 5,000
303 ZTA2 2,000 2,000 0
01 ZTA2 2,000 2,000 0
OUAEZSTA T 2482- Z&
2,000,000 2,000
UABEES 2 HHASEAHI NI (BX) 2,190 1,800 390
[ 730
Al 1,460
201 LBt 2,190 1,800 390
[ 730
Al 1,460
01 At 22l H 2,190 1,800 390
OBt 2| 2,190
o HEYHSEAEI} N\ 2,190,000 2,190
(= 730
Al 1,460
OlSZ=H XR(BED2IHEIH)(EX) 320,750 263,250 57,500
Jl 256,600
[ 32,075
Al 32,075
301 Lt Az 320,750 263,250 57,500
7l 256,600
[ 32,075
Al 32,075
01 AIBI B &R 25 2 320,750 263,250 57,500
OMAES S2DIE IH L=H S X
320,750,000 320,750
Jl 256,600
[ 32,075
Al 32,075
OlS2sH N (HAE 823 JHEXN)N(EX) 3,450 5,000 A 1,550
7l 2,760
[ 345
Al 345
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Al 117,000

H

301 2ELE A= 167,000 167,000 0
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301 2ELE A= 5,000 5,000 0
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= M

01 AR 2&H =63 5,000 5,000 0
A5 SR22JH8 WsH X& 5,000,000 5,000

2,500
2,500

= M

OLOIES=S X (EX) 391,038 354,286 36,752
273,727
46,925
70,386

= N H

307 glztol & 391,038 354,286 36,752
273,727
46,925
70,386

= N W

11T M SXAIE EX 391,038 354,286 36,752
OO00IEE MBIAOE BE2X
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0
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25,808
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| Al 31,673
S2X PANHHAIE (EX) 800 800 0
& 240
Al 560
307 2Iz2to| & 800 800 0
o 240
Al 560
11T AISIEXAIEEX 800 800 0
SEX 2AHWAMY 800,000& 800
=} 240
Al 560
AZEZA JIFES MEA 2T (BX) 75,610 73,688 1,922
J| 37,805
& 18,902
Al 18,903
307 giztol A 75,610 73,688 1,922
J| 37,805
& 18,902
Al 18,903
11T A EXAIEEX 75,610 73,688 1,922
OE8ZEMNEA 2EXE 75,610,000 75,610
J| 37,805
== 18,902
Al 18,903
SAEZHIHA 2 2H|,2t8H N (EX) 5,268 5,268 0
J| 3,688
o= 790
Al 790
307 2I2t0| & 5,268 5,268 0
J| 3,688
o= 790
Al 790
11 A EXAIEEX 5,268 5,268 0
O&EZHToHA 2 24| 5,268,000 5,268
J| 3,688
& 790
Al 790
HSEHNNA XZ2,s2x2J3(BX) 12,892 12,892 0
J| 9,024
& 1,934
Al 1,934
307 2iz2to| A 12,892 12,892 0
J| 9,024
& 1,934
Al 1,934
11T AISIEXAIEEX 12,892 12,892 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O8Z8IA Igss Z20H2Y
12,892,000& 12,892
J| 9,024
< 1,934
Al 1,934
OEZHAEA SAX HRMA(EX) 5,400 5,400 0
< 1,620
Al 3,780
307 gl2tol & 5,400 5,400 0
< 1,620
Al 3,780
11T M SXASE EX 5,400 5,400 0
OHEZHLAG AL BAX =2 5,400,000& 5,400
< 1,620
Al 3,780
HEZgy 2 A8 AL BExUs(EX) 940 940 0
J| 470
< 235
Al 235
307 glz2+ol & 940 940 0
J| 470
< 235
Al 235
11T MISAASER 940 940 0
OHEZSWHEAE SAKN U= 940,000 940
J| 470
< 235
Al 235
JIEE" Ik Nesls T2 2 ozdl XA ( 1,600 1,572 28
8x)
J| 1,120
< 240
Al 240
307 glz2tol & 1,600 1,572 28
J| 1,120
< 240
Al 240
11T MISXASER 1,600 1,572 28
OJtE=ZH oA 2=H X3 1,600,000 1,600
J| 1,120
< 240
Al 240
OlSHEAEXAAURE(EX) 7,000 7,240 A 240
= 3,500
< 1,750
Al 1,750
307 21201 A 7,000 7,240 A 240
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@2 Hg=Exsd (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,500
< 1,750
Al 1,750
11T MISXAS EX 7,000 7,240 A 240
O0ts HEetd X9l 2EX&
7,000,000& 7,000
= 3,500
< 1,750
Al 1,750
OlSHEREHE X2 (EX) 3,000 4,280 A 1,280
= 1,500
< 750
Al 750
307 gl & 3,000 4,280 A 1,280
= 1,500
< 750
Al 750
11T MISXASEX 3,000 4,280 A 1,280
OOtstE X & HAH 3,000,000& 3,000
= 1,500
< 750
Al 750
dEgMghs 28 FIHNE(EX) 12,966 0 12,966
= 3,890
Al 9,076
307 21201 A 12,966 0 12,966
< 3,890
Al 9,076
11T M3 SRASEEX 12,966 0 12,966
Od=Z8d48eds 22 12,966, 000& 12,966
< 3,890
Al 9,076
Ch2st o5 3% X2 654,887 621,592 33,295
J| 253,519
= 126,057
Al 275,311
ChE3HE Azl S8 K& A Y 23,810 29,010 A5,200
201 £B-2dH| 560 0 560
01 At 22l 560 0 560
022+ 560
o LI2sItEXNEAEs /) &84
560,000& 560
202 o4dl 750 750 0
01 = LH o4 1l 750 750 0
OLUERaAINEXNE HRF 750,000& 750
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g d=1sd
¢ =23 ots 3= K (cho &)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 22,500 28,260 25,760
11T M SRASEEX 22,500 28,260 A5,760
OC230tE & ote & X 13,500, 000& 13,500
OUE23Is "FZAL HAFII"
9,000,000& 9,000
A201E 9 URaHs NAME 2G(EX) 172,900 163,134 9,766
J| 86,450
< 25,935
Al 60,515
307 glz2tol & 172,900 163,134 9,766
J| 86,450
< 25,935
Al 60,515
11T MISAASEX 172,900 163,134 9,766
OLU=23IE NJAdH 24 172,900, 000& 172,900
J| 86,450
< 25,935
Al 60,515
IHgds 2 HEHME S dR2uSAHHA JJ(2X) 109,800 106,500 3,300
J| 76,860
< 10,980
Al 21,960
307 21201 A 109,800 106,500 3,300
J| 76,860
= 10,980
Al 21,960
11 AL S XA E = 109,800 106,500 3,300
OOUEaIE L2WsAY 109,800, 000& 109,800
J| 76,860
< 10,980
Al 21,960
stR0uE 29 (EX) 22,162 22,162 0
J| 15,514
< 2,216
Al 4,432
307 glz2+ol & 22,162 22,162 0
J| 15,514
< 2,216
Al 4,432
11T M 2XASE EX 22,162 22,162 0
O =20usJ2 24 22,162,000 22,162
J| 15,514
< 2,216
Al 4,432
ZE0|2K SHIAMU A KB (EX) 22,224 17,232 4,992
J| 15,557
< 2,222
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Al 4,445
307 glz2tol & 22,224 17,232 4,992
J| 15,557
< 2,222
Al 4,445
11T M SXASEEX 22,224 17,232 4,992
OZ2S0|2 X SHAMHA 22,224,000 22,224
J| 15,557
< 2,222
Al 4,445
Ol H=ESHEH(EX) 24,224 14,077 10,147
J| 16,957
< 2,422
Al 4,845
307 21201 A 24,224 14,077 10,147
J| 16,957
< 2,422
Al 4,845
11T AR SXAIEE =X 24,224 14,077 10,147
O0ISAHN s 3x=H 24,224,000 24,224
J| 16,957
< 2,422
Al 4,845
ChEsits Jddoge X (ExX) 60,258 58,912 1,346
J| 42,181
< 6,026
Al 12,051
307 glz2tol & 60,258 58,912 1,346
J| 42,181
< 6,026
Al 12,051
11T M SRASEEX 60,258 58,912 1,346
OLUERaIE THHAAHLEE X3 AHY
60,258,000 60,258
J| 42,181
< 6,026
Al 12,051
Ct2sits XEdH SAUETIA(ER) 27,409 25,795 1,614
< 10,964
Al 16,445
307 gl2tol & 27,409 25,795 1,614
< 10,964
Al 16,445
11T M SXALSE EX 27,409 25,795 1,614
OC =3 INEXNAEH SAUSITH
27,409,000 27,409
S 10,964
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 16,445
28l NEHMEH EAL 2N+ N (2X) 18,000 13,680 4,320
< 5,400
Al 12,600
307 gl2tol & 18,000 13,680 4,320
< 5,400
Al 12,600
11T M SXASE EX 18,000 13,680 4,320
OUSEIIE NME AR =X+
18,000, 000& 18,000
< 5,400
Al 12,600
SZg0sSsY 2L (EX) 111,600 57,990 53,610
= 41,292
Al 70,308
307 gl2tol & 111,600 57,990 53,610
< 41,292
Al 70,308
11T ALS S RAEE = 111,600 57,990 53,610
O==220=ssd 29X & 111,600, 000& 111,600
< 41,292
Al 70,308
ZE0|2A MgEHUS(EX) 11,000 12,000 21,000
< 4,400
Al 6,600
307 glz2tol & 11,000 12,000 A1,000
< 4,400
Al 6,600
11T MISXASEX 11,000 12,000 A 1,000
OZS0|2UX HAEHDE 11,000, 000& 11,000
< 4,400
Al 6,600
ZE0|2X SHAXNIAMNS(EX) 12,500 10,700 1,800
< 5,000
Al 7,500
307 21201 A 12,500 10,700 1,800
< 5,000
Al 7,500
11T M3 SXAISEEX 12,500 10,700 1,800
OZE0/2A SR A ALY 12,500, 000& 12,500
< 5,000
Al 7,500
st a4 IXNA(EX) 7,000 7,000 0
< 2,800
Al 4,200
307 glz2tol & 7,000 7,000 0
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= 2,800
Al 4,200
11T AISIEXAIEE X 7,000 7,000 0
OUES3 A MNZXH 7,000,000& 7,000
o= 2,800
Al 4,200
C23itE Ds8US0| X' (BEX) 32,000 32,000 0
= 6,400
Al 25,600
307 QI2t0| & 32,000 32,000 0
& 6,400
Al 25,600
A EXAEEX 32,000 32,000 0
OUE3IIE DSUE0 ALY 32,000,000 32,000
& 6,400
Al 25,600
Lo=Exsd 69,773,286 70,000, 309 N 227,023
= 46,707,610
Xl 200,000
J| 104,112
= 6,042,756
Al 16,718,808
LOoEXANE &= 1,601,788 2,334,400 NT32,612
= 117,434
Xl 200,000
= 2,560
Al 1,281,794
2 2 SH=2Ele #EQH JsEL 798,000 578,000 220,000
201 et d| 3,000 3,000 0
01 AF 22| H| 3,000 3,000 0
OLet=2d| 3,000
0ZRY U BBE H=oF AL
3,000,000 3,000
401 AlEHIZL £ 0HY| 180,000 100,000 80,000
01 Al&H| 178,380 99, 100 79,280
OZ2Z ¥ siSEel B=oF s
100,000,000 *99. 10% 99,100
OHEZUSTS 2 AETA
80,000,000 x99. 10% 79,280
03 AlE 21| 1,620 900 720
OZ2Y 2 St2EIE #=E9E W
100,000, OOOOJ *0.9% 900
OANSFOEI 2 AFZBA
80,000,000 *0.9% 720
402 SI2FXHE0| & 615,000 475,000 140,000




SH: HEHED
Ha: Lo=XEH

22 CASEXAE &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 2IZEH 2 A B (KR ) 615,000 475,000 140,000
OZ2Y ¥ sisEel #=F Is2Y N
A 615,000,000& 615,000
FE2Y S3MEAY 223,920 223,200 720
301 et d=s 223,920 223,200 720
01 MI2ZE 6= 223,920 223,200 720
O32Y ZJI&a isE XD &xi2el € 2
MY A 360,000 x6220H 2~ 223,920
Nog=MaH AAEH(S2Ee =9 24)( 286,000 286,000 0
8x)
Xl 200,000
Al 86,000
401 A& HIZ 2018 70,000 70,000 0
Xl 49,000
Al 21,000
01 A& HI 69,370 69,370 0
COetSEe d#=9 & X429
70,000,000 x99. 1% 69,370
Xl 48,559
Al 20,811
03 A& =2 THHI 630 630 0
COe Sk =9 & £42Y
70,000,000& x0.9% 630
Xl 441
Al 189
402 RIZEX20l ™ 216,000 216,000 0
Xl 151,000
Al 65,000
02 U2 THEALEZ(0IETHR) 216,000 216,000 0
O&tSEel &=529 & 2429 216,000,000& 216,000
X 151,000
Al 65,000
Lo =SNAE JIsEd 59,000 174,000 A 115,000
101 @124l 15,000 0 15,000
04 JIZHHZ2Z2XNSE =+ 15,000 0 15,000
O =EXE2 HMx & = 15,000,000 15,000
201 ¢er24l 24,000 24,000 0
02 =224l 24,000 24,000 0
OAEZHI S X 24,000
o LoI=EXE2 AMEFEH =X 20,000,000& 20,000
o ZH AOEEFE AMEFH =X
4,000,000& 4,000
401 Al HI K 201 I 20,000 150,000 A 130,000
01 A& HI 20,000 148,920 A 128,920
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O EXES =2 ZHZA 20,000,000 20,000
LOIQAALEE(IISEL) AIH(EX) 17,068 164,300 N 147,232
= 8,534
= 2,560
Al 5,974
402 12V XHE0| & 17,068 164,300 N 147,232
= 8,534
= 2,560
Al 5,974
02 X E AL E X (0| &M THE) 17,068 164,300 A 147,232
O QUAE SHHHEE AX(JIE QAR ([
SESHE 0l @22 17,068,000 17,068
= 8,534
=} 2,560
Al 5,974
FHAANES HHXNEXN(EX) 217,800 197,800 20,000
= 108,900
Al 108,900
402 SI2FXHE0| & 217,800 127,800 90,000
= 108,900
Al 108,900
02 BIZtXIEANYEX(0OIETHHA) 217,800 127,800 90,000
OFLHZS UXEXAL (FZ2Y)
217,800,000& 217,800
= 108,900
Al 108,900
LoEIANdE 29 12,272,350 12,035,017 237,333
= 1,245,699
== 3,800,327
Al 7,226,324
A2 L S=Ele #HE2QE 2 A 539,300 539,300 0
201 LBt 9H]| 2,500 2,500 0
01 AP 22| d| 2,500 2,500 0
OLet4=2d| 1,000
0 1Al 18t2El2| @29 & AIREE 2 A
=7 1,000,000 1,000
O =] 1,500
o BEEle WEAW U F2Y BHH X7
1,500,000 1,500
202 o4 H| 500 500 0
01 2L I 500 500 0
O SElR) B=20F U Z2Y M5 2=
& 500,000& 500
301 LBt A= 536,300 536,300 0
01 Al E & A 452 536,300 536,300 0
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Ost=ttel d=2F 22Hl X
2,500,000& = 185H £~ 462,500
OZ2Y 2ZH FHXI(ARAIL)
1,120,000& *300H £ 33,600
OZ=2g gl X (AA4)
1,340,000& *309H £ 40,200
d2Y 294 XJA (2, 2,24 H)(EX) 1,148,570 1,148,570 0
< 229,714
Al 918,856
307 gl2tol & 1,148,570 1,148,570 0
< 229,714
Al 918,856
10 AL SXNAIEEE2EH EX 1,148,570 1,148,570 0
OZ2Y 2%l NI (2L, e, 2-Aald])
1,148,570,000& 1,148,570
< 229,714
Al 918,856
dzY 29Xl 2LXNJA(E2Y sEI| eyl 1,179,871 1,179,871 0
Jdetdl, 2= XE)(EX)
=2 294,968
< 176,981
Al 707,922
307 glz2+ol & 1,179,871 1,179,871 0
=2 294,968
< 176,981
Al 707,922
10 ALSISXAIEEE2EHEX 1,179,871 1,179,871 0
OZ2Y SZEI|LEY, Hey, 2= XA
1,179,871,000& 1,179,871
= 294,968
< 176,981
Al 707,922
CQO=EXEE YU E 715,600 670,000 45,600
307 glz2+ol & 715,600 670,000 45,600
05 RIZt2E = 715,600 670,000 45,600
O =XE2 Q2AE S 670,000,000& 670,000
OLQEEEXNZ SAX ML
45,600,000 45,600
LOEEEEAMEA ®HI BEX (=20l BtH™ X 659,334 536,026 123,308
2)(2%)
= 461,534
< 79,120
Al 118,680
307 eI+l & 659,334 536,026 123,308
= 461,534
= 79,120
Al 118,680




SH: HEHED
Ha: Lo=XEH
ool Lo=NAL 29 CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

05 2zt & =3 659,334 536,026 123,308
O S=20| BIRH™ALY 659,334,000& 659,334

461,534
79,120
118,680

= HnH

SOIDMALMEIA 0L BER (LS 20l bR K& )( 530 0 530
B8x)
371
64
95

= M W

307 21201 & 530 0 530
371
64
95

= W

05 22t & =3 530 0 530
O S=20| BIRHALY 530,000 530
371

64
95

=z N H

Wt SXAEXA(BX) 2,809,808 2,809,808 0

= 280,981
Al 2,528,827

307 clztol & 2,809,808 2,809,808 0
280,981
2,528,827

=

1A SXAIE E = 2,809,808 2,809,808 0
OMotcel SXAE X& 2,809,808,000& 2,809,808

280,981
2,528,827

= M

H
re
0z
gy
=
i
Ot
>
-
Jn
[l
I
o
fr
P

261,514 261,514 0

78,454
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Al 183,060

H

COsEI2 dAZZ2OYH 2L (EX) 20,000 20,000 0
3,000
Al 17,000

M

307 glztol & 20,000 20,000 0

3,000
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L= B

el

P IlE=n}
co=xsd
LOEIANLE 2Y

(]

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

A S XA E X

O =X HAZ2IY 2SN
20,000,000&

= M

20,000

20,000

3,000
17,000

20,000

Lol HolMoeE 2S(2X)

= M

82,368

24,710
57,658

82,368

307 21201 &

H

Al

82,368

24,710
57,658

82,368

A S XA E X

O =S OolAoeeE 24 82,368,000

Al

82,368

82,368

24,710
57,658

82,368

H
e
Ha

O
ogr
20
oM
b
s
>
[==
I>
e
[al]
H
P

H

Al

21,000

6,300
14,700

21,000

307 21201 A

= M

21,000

6,300
14,700

21,000

1A SXAIE E =

O &S SSHYAMBIAAS

21,000,000&

H

Al

21,000

21,000

6,300
14,700

21,000

H

Al

4,095,659

2,866,961
1,228,698

4,095,659

H

Al

4,095,659

2,866,961
1,228,698

4,095,659

O MEAN4d XA 4,095,659,000&

= M

4,095,659

4,095,659

2,866,961
1,228,698

4,095,659

LZAE 2HH XN (EX)

= HnH

698,323
488,826

41,900
167,597

630,428

67,895

307 glztol &

= HmnH

698,323
488,826

41,900
167,597

630,428

67,895

1A SXAIE 2 =
OZZAE 228l X& 698,323,000

698,323
698,323

630,428

67,895




M 08I ED
By Lo=xEd
S moEXAL 29 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 488,826
& 41,900
Al 167,597
LolEXa SAN EELY(BEX) 16,707 16,707 0
= 5,012
Al 11,695
307 2Iz2t0| & 16,707 16,707 0
= 5,012
Al 11,695
11T AISIEXAIEEX 16,707 16,707 0
OLQEX2 SAA S84 16,707,000 16,707
=} 5,012
Al 11,695
MILEQE2XNAE SAIX EEHEY(BX) 23,766 23,766 0
& 7,130
Al 16,636
307 QI2t0| ™ 23,766 23,766 0
& 7,130
Al 16,636
11T A EXAIEEX 23,766 23,766 0
OMIIC=XAE SAL S8
23,766,000 23,766
= 7,130
Al 16,636
CEME X2 54,625,964 52,529,892 2,096,072
=2 45,344,477
J| 104,112
= 2,239,869
Al 6,937,506
LOSXSIAY =& 346,695 325,555 21,140
201 LBt ]| 42,000 22,000 20,000
01 AP 22| H| 10,000 10,000 0
O2et4=24| 6,000
o A HREFA 2,000,000& 2,000
o LoIEX & Mot =
1,400,000 1,400
o LQEXg 2 oA (HAAIAMNER
2,600,000& 2,600
==l 4,000
o LOZ2EXNSEANY =& 4,000,000& 4,000
02 E2=2=24%H| 32,000 12,000 20,000
OZ2Z222L A 32,000
o Lo=XFE BE2R= 12,000,000& 12,000
0 SO otNAUe QEYUSES @2
20,000,000 20,000




AN GEIEY
Mo LoI=XEX
Sl mRME (AL EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 2,500 2,500 0
01 = LH 4 Hl 2,500 2,500 0
OL2=X gRF2 1,750,000& 1,750
OFAYR =& 750,000& 750
307 gl2tol & 102,195 101,055 1,140
03 QIZtHNHE2HEHEX 44,995 43,855 1,140
Ot elsl 2HMAIXE 29 44,995,000 44,995
11T MISXASEX 57,200 57,200 0
o=ofs 24 21,200,000 21,200
Oy JIgd A 18,000, 000& 18,000
ONHOlE JIE&A 18,000, 000& 18,000
402 RI2HXt20l 200,000 200,000 0
01 212t 2 AL E = (REMTH ) 200,000 200,000 0
OS5 =H&d HH A 200,000,000 200,000
=z NS(XNAMEXR)(XHH) 1,500 1,500 0
201 £B-2d| 1,000 1,000 0
01 At 22l 1,000 1,000 0
O2Et==EH| 1,000
oJlx=ga YRFA 1,000,000 1,000
202 04 Hl 500 500 0
01 = LH 4 Hi 500 500 0
OJl=H3ad ZRFA 500,000& 500
=z NS(NRMER)N(EX) 46,688,586 46,688, 586 0
= 42,019,727
< 933,772
Al 3,735,087
301 et d = 46,688,586 46,688, 586 0
= 42,019,727
< 933,772
Al 3,735,087
01 MEIEBEZE+05l= 46,688,586 46,688, 586 0
OJI=93 X2 46,688,586, 000& 46,688,586
= 42,019,727
< 933,772
Al 3,735,087
HESHLO BHBX)| NIANP(EX) 9,000 9,000 0
< 2,700
Al 6,300
301 et a = 9,000 9,000 0
< 2,700
Al 6,300
01 MEIBEE 263 9,000 9,000 0




fAM: 04
SR el
=

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

9,000,000 9,000

2,700
6,300

= M

Lolg gdst AM(EX) 84,260 80,000 4,260
21,065
Al 63,195

H

307 21201 & 84,260 80,000 4,260

21,065
Al 63,195

m

11T M SXALSE EX 84,260 80,000 4,260
OCQASFHEUXNH(I2Y =lZz2 g2

el At) 84,260,000 84,260

21,065

63,195

= M

Colditel ¢ A ESXHE EH(AMMER)(EX) 5,475,768 3,783,042 1,692,726
2,737,884
1,005, 154
1,642,730

= W

101 1Al 20,462 15,356 5,106
10,231
4,093
6,138

Z W

04 0IZtHZ22 S+ 20,462 15,356 5,106
O AS 2

20,462,000 20,462

10,231

4,003

6,138

= M W

201 ¢er24l 3,400 3,400 0
1,700

680
1,020

= M W

01 AF22t2l bl 3,400 3,400 0
2ot 2 H| 3,400

o QA ESKE M= 3,400,000& 3,400

1,700

680
1,020

= N H

202 Oddl 800 800 0

400
160
240

= N H

01 =LHOI LI 800 800 0
OMNBESXNE MHFT 800,000 800
400

160
240

= HnH




2N
X ZH -
L= B

el

U
=1

2

o e 0x

e Y
0l

= ™

0z Jit
0

25t

SN P SA(EN) - MBAY - BES

Off &t 24

= N H

951,150
475,575
190,230
285,345

INB2SXE MEFT(SES)
9

51,150,000&

= M W

951,150

951,150
475,575
190,230
285,345

711,511

239,639

307 21201 &

= W

4,499,956
2,249,978

899,991

, 349,987

3,051,975

1,447,981

11 AL S X ALY

O QAL &

O H

= N W

= MW

,499,956

4,233,950
2,116,975

—_

846,790

,270,185

266,006
133,003
53,201
79,802

3,051,975

1,447,981

257,000

257,000

257,000

257,000

257,000,000&

257,000

257,000

257,000

H

Al

230,000

23,000
207,000

220,000

10,000

307 glz2tol &

tn

Al

230,000

23,000
207,000

220,000

10,000

1A SXAIE 2 =
2

OALIOIZEE 23X&E

s

230,000, 000&

H

Al

230,000
230,000

23,000
207,000

220,000

10,000

AUNEE BMA SE€E(EX)

H

Al

7,200
2,160
5,040

7,560

A 360

307 21201 &

2l

Al

7,200

2,160
5,040

7,560

A 360

_20_




2N

X{ XH -
S =

= - 4 14
E - G2 (3H) - NRAY - BES e HlDE2
11T M SRASE EX 7,200 7,560 A 360
OAILIGIZ2Y SAR SE=E 7,200,000& 7,200
= 2,160
Al 5,040
LOSSBIEMEIAAY R (SHEQ MEZD| A 838,380 690, 137 148,243
2)(2%)
= 586,866
< 100,606
Al 150,908
101 @144 Hl 838,380 690, 137 148,243
= 586,866
< 100,606
Al 150,908
03 RIAHAZ 2T E =+ 19,200 0 19,200
OSHLQ M2 At TFHAAY (21 24])
19,200, 000& 19,200
= 13,440
< 2,304
Al 3,456
04 JIZtHZ2XREES 819,180 690, 137 129,043
OSHLQ M2 At TFHAAY (1 24])
819, 180,000& 819,180
= 573,426
=) 98,302
Al 147,452
SHEQ ME2Z AL OHA ALY 161,200 139,200 22,000
101 @14 Hl 151,200 139,200 12,000
03 RIAHAZ 22+ 2,400 0 2,400
OSHLQ ME2CAL IHAAY &SI
2,400,000 2,400
04 JIZHHZ2XRHEES 148,800 139,200 9,600
OSHLQ MEt2clAb MAAY Sl
148,800, 000& 148,800
201 ¢er24| 10,000 0 10,000
01 At 22l 10,000 0 10,000
O Eu=H| 10,000
0 SHLO MERA A EWSH (S HIT)
10,000, 000& 10,000
HEQl MulaZell AR+ (EX) 1,200 1,200 0
< 360
Al 840
101 @124 dl 1,200 1,200 0
< 360
Al 840
04 JIZtHZ22HEE = 1,200 1,200 0




SN HAED
N2 olExsd
CHe SME T3 Chel: ® &)
M- B8 a2 (3) - HEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OSAHLQ AMulAazel X At =
1,200,000 1,200
& 360
Al 840
HEOESHMO s3td S SAXA (el 193,600 160,896 32,704
HAH)(EX)
J| 96,800
Al 96,800
101 21 214| 193,600 160,896 32,704
J| 96,800
Al 96,800
03 2INHAZ2Z2XNHE %= 43,200 0 43,200
OSAHLQ - S & & AHIA QI H|
43,200,000 43,200
J| 21,600
Al 21,600
04 JI2tHI22NEES 150,400 160,896 N 10,496
OSAHLQ - S E = oHA M Hl A Q24|
150,400,000 150,400
J| 75,200
Al 75,200
HEAESSEHM2 St A X (D] 3,360 738 2,622
SAHI)(EX)
J| 1,680
Al 1,680
201 Bt 3,360 238 3,122
J| 1,680
Al 1,680
01 AP 22| H| 3,360 238 3,122
O =2H| 3,360
0o SN - ESSEOM S AH A AFS
=N 3,360,000& 3,360
J| 1,680
Al 1,680
HEQIEZSHHQ S UL AH A 2EXR(H 11,264 82,000 NT0,736
EAH 2 SXNES H2)(EX)
J| 5,632
Al 5,632
201 gBt24y| 11,264 82,000 NT0,736
Jl 5,632
Al 5,632
02 224 H| 11,264 82,000 NT0,736
OANE &Y XY 11,264
0o SHLQ - SSEO O MHIA Sal
ull 11,264,000 11,264
J| 5,632
Al 5,632

- 22 -




2N
X ZH -
L= B

el

GRS
cel=mXsd
CEME N2t

= _ — d =
SA - BB B () - MM - BES Ol &t o e
SHLQ Ssetd S201 MdlA 54,900 54,900
201 £B-2d| 54,900 54,900
01 At 22l 5,000 5,000
oO2et=ZH| 5,000
o=kl - SSTME SSHH ARES
- 5,000,000& 5,000
02 2324l 49,900 49,900
OZZ23LHA 19,100
o Sk - ZBHMY S=22¢E MHIA(S
AlHl) 19,100, 000& 19,100
OA & EHl s Xl 21,800
0o SNHLO - EZFML SSAE MHEIA(R
A2 =2dl) 21,800,000& 21,800
O X+ & | 9,000
0o SHLO - ZZFML SSAE MHIA (X
Egak=li:p] 9,000,000& 9,000
CoHATE(ER) 7,111 7,111
< 1,067
Al 6,044
307 21201 A 7,111 7,111
< 1,067
Al 6,044
11T M3 SXAISEEX 7,111 7,111
O AA X 7,111,000 7,111
< 1,067
Al 6,044
PEIRAL(ER) 112,500 112,500
< 28,125
Al 84,375
307 gl2tol & 112,500 112,500
< 28,125
Al 84,375
11T ALS S RAEE = 112,500 112,500
OR2Z=24% 112,500, 000& 112,500
< 28,125
Al 84,375
HEEH MAS MIIECAMABE (EX) 127,440 127,440
< 31,860
Al 95,580
307 glz2+ol & 127,440 127,440
< 31,860
Al 95,580
11T MISRASEX 127,440 127,440
OHNs=28 HAS It AAIHE
127,440,000& 127,440
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2A: 41
2 Lo=XE
e SME X2 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 31,860
Al 95,580
ANELAAHOIESE 22 15,000 13,000 2,000
101 Q124 H| 15,000 13,000 2,000
04 JI2ZtHIZ22NEES 15,000 13,000 2,000
OXNZLHHOIEER 2eed I
15,000,000& 15,000
AN E2H 1,273,184 3,101,000 N 1,827,816
22X 89 22 76,000 0 76,000
101 e1214| 23,000 0 23,000
04 JI2tHIZ22XNSEES 23,000 0 23,000
OF&EU0 22X &HFAH 23,000,000 23,000
201 B9 3,000 0 3,000
01 AP 22| H| 3,000 0 3,000
OB =2H| 3,000
022X &9 22 3,000,000& 3,000
401 Al HI L 204 HI 50,000 0 50,000
01 Al&H| 49,460 0 49,460
OEHEH Use 22X 3|
50,000, 000& x98.92% 49,460
03 Al 204 Y| 540 0 540
OEEH Use 22X A
50,000,000 *1.08% 540
ZAZIMAINER2H 1,197,184 3,101,000 1,903,816
201 et d| 500 500 0
01 AR 22l ] 500 500 0
O =&l 500
0ONER 22 AFAL F2ET
500,000& 500
202 o4 | 500 500 0
01 2L HI 500 500 0
ONER 2222 AL Y25
500,000& 500
308 AXIEHMSOIA 96,184 1,000,000 A 903,816
07 AIXSHH2EESSZ2 96, 184 1,000,000 A 903,816
ONEHAZ=T2 2 KNLXUXEHZ2E EE2
96,184,000 96, 184
401 AlEHIZL 201 Y| 1,100,000 1,100,000 0
01 Al&H| 1,096,040 1,096, 040 0
ONERAZTD 22 STAIE =H XA AN
=N 1,100,000,000& *99.64% 1,096,040

_24_




2N

By Lo=xEd
CHelt BAAE Y CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 3,960 3,960 0
OAEHAFT22E SIEAE F=8H XNGHEAS
= 1,100,000, 000& *0 . 36% 3,960
g2 2 sEXSN 24,006,464 21,406,237 2,600,227
= 9,795,632
== 8,823,460
Al 5,387,372
OrsEXsd 5,187,579 3,002,410 2,185,169
= 2,005,947
= 1,396,591
Al 1,785,041
Ols SXAIE =& 30,840 29,840 1,000
201 et d| 14,620 14,620 0
01 AF 2t 2| H| 7,620 7,620 0
OLet=2d| 2,000
0 OISERFTER AMNREE 2 2,000,000& 2,000
O+ 3,120
o Ol=2AaRAdg EALE 1,120,000 1,120
0 ESIMANAS FAY 2,000,0008! 2,000
==l 2,500
o OlsSgERF&X 2,500,000& 2,500
03 A2 G H| 7,000 7,000 0
OO0l JI9sAl 2LH|(1E=2)
7,000,000& 7,000
202 o4 | 1,220 1,220 0
01 2L HI 1,220 1,220 0
Ootsg =4 1,220,000 1,220
301 et A= 2,000 2,000 0
01 Al E& A 462 2,000 2,000 0
ORLESOHS(JIEAE AMELA E) EHIYE
5 7Y 2,000,000 2,000
307 giztol & 13,000 12,000 1,000
11T AISIEXAIEEX 13,000 12,000 1,000
OHN9B3 ol J|E e At 13,000,000& 13,000
NEotsHE 29 A (EX) 692,418 635,436 56,982
= 346,209
o=} 138,484
Al 207,725
307 QI2t0| ™ 692,418 635,436 56,982
= 346,209
= 138,484
Al 207,725
11 A EXAIEEX 692,418 635,436 56,982
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OXg0tsdH JI=2g XA 692,418,000& 692,418
= 346,209
< 138,484
Al 207,725

LaNA0SHH KNI (EBX) 26,266 26,266
= 13,133
< 5,253
Al 7,880

307 21201 A 26,266 26,266
= 13,133
< 5,253
Al 7,880

11T M SRASEX 26,266 26,266
O2=X90tsdy X 26,266,000 26,266
= 13,133
< 5,253
Al 7,880

=S8 XNA0otsdH FIHKNA(EX) 21,924 21,924
= 10,962
< 4,385
Al 6,577

307 gl2tol & 21,924 21,924
= 10,962
< 4,385
Al 6,577

11 AL S XALEE = 21,924 21,924
OXY0tsdH E+=28E XJ 21,924,000& 21,924
= 10,962
< 4,385
Al 6,577

QLEZE XNYOtsSHE FIUHANA(BEX) 10,944 10,944
= 5,472
= 2,189
Al 3,283

307 glz2+ol & 10,944 10,944
= 5,472
< 2,189
Al 3,283

11T MISRASEX 10,944 10,944
OXg0tsdlH E2F XA 10,944,000& 10,944
= 5,472
< 2,189
Al 3,283

SSEXN WA A (OFSS X AN AFSIE A XtelALY) 183,886 22,606

2X)

= 91,943
< 36,777
Al 55,166
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AN &8Iz
B 88 U OlS=XEN
e OrssXsd (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
101 @124 H] 183,886 161,280 22,606
2 91,943
& 36,777
Al 55,166
04 JI2ZtHIZ2 2 NEE S 183,886 161,280 22,606
OUSEX WA AFEIE ARl ALY
183,886,000 183,886
= 91,943
& 36,777
Al 55,166
OtS =X WA AFSI E L X2 AP (REMIAFS) 18,938 15,938 3,000
101 Q124 H| 18,938 15,938 3,000
04 JI2ZtHIZ22NEES 18,938 15,938 3,000
OOS=EX WA A E L X 1 2d]|
16,737,960& 16,738
OXNGAMEEXNA HRMA(ZHA2S4H)
2,200,000& 2,200
NAOISHE HDE Al N (2XE) 391,250 302,625 88,625
o= 97,812
Al 293,438
307 2I2t0| ™ 391,250 302,625 88,625
o= 97,812
Al 293,438
11 A EXAIEEX 391,250 302,625 88,625
OXE0tsSHEH SIS 2HAXEH
391,250,000& 391,250
= 97,812
Al 293,438
KNGO0lSHEH SAIANHRIMAE (EX) 40,680 31,320 9,360
o=} 8,136
Al 32,544
301 et A= 40,680 31,320 9,360
= 8,136
Al 32,544
01 M| EXEE 4562 40,680 31,320 9,360
OXE0tsSHE SAXNHKIMEH
40,680,000 40,680
= 8,136
Al 32,544
OIS =EXAIE 2H XA 133,300 80,500 52,800
307 QI2t0| ™ 133,300 80,500 52,800
11T A EXAIEEX 133,300 80,500 52,800
QOOISEXNAIE SAHAN Ecl&M8HH A
33,600,000 33,600
OUsS=SXNAIE U SFHAE 13,200,000 13,200
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M 08I S
B 9 OlS=2XEA
e OrssXsd (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OO0lES=XAE DAY XA 7,700,000& 7,700
OOS=SXAIE HtgrH] X & 6,000,000& 6,000
OO0ISEXNAE sl FATH
15,000,000& 15,000
OXG0tSHE HESAIL X (HESF)
2,000,000& 2,000
OXE0tsHH 24 =201 A& 52,800,000 52,800
OXYGOISHE HASAILXH(HMSUSE)
3,000,000& 3,000
RLESOIs OEE 29 (BX) 71,430 71,022 408
= 28,572
= 21,429
Al 21,429
307 giztol A 71,430 71,022 408
= 28,572
= 21,429
Al 21,429
11T AISIEXAIEEX 71,430 71,022 408
ORESOls JEs2s 289 71,430,000 71,430
= 28,572
& 21,429
Al 21,429
OlS 2L XAHEI ANXNSHIAEX(EX) 108,336 86,063 22,273
= 75,836
= 16,250
Al 16,250
301 et A= 108,336 86,063 22,273
= 75,836
o=} 16,250
Al 16,250
01 Al E& A %62 108,336 86,063 22,273
OotseYe X & A X 108,336,000 108,336
= 75,836
& 16,250
Al 16,250
gist=E Ols 34 XY (EX) 765,000 729,000 36,000
& 191,250
Al 573,750
301 LBt A= 765,000 729,000 36,000
== 191,250
Al 573,750
01 Al E & A 462 765,000 729,000 36,000
Oegss olss34a X 765,000,000 765,000
o= 191,250
Al 573,750
SJ=E Ols24 XY (BEX) 641,250 608,000 33,250
& 641,250
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2A: 41
B 9 OlS=2XEA
e OrssXsd (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
301 Lt A= 641,250 608,000 33,250
== 641,250
01 Al E & A 452 641,250 608,000 33,250
OsH)s ots24A X 641,250,000 641,250
=} 641,250
IAOISIIEXNR (EX) 50,000 50,854 854
= 35,000
& 7,500
Al 7,500
301 et A= 50,000 50,854 A 8h4
- 35,000
& 7,500
Al 7,500
01 Al B & A 46 2 50,000 50,854 A 8h4
0OA0ls =2 & 50,000,000 50,000
= 35,000
= 7,500
Al 7,500
JIEQAE B5H X (EX) 81,000 81,000 0
= 8,100
Al 72,900
301 et A= 81,000 81,000 0]
=} 8,100
Al 72,900
01 Al E& A %52 81,000 81,000 0
OJIIE/E E5H X 81,000,000 81,000
< 8,100
Al 72,900
AEAH Y IHEQAEXNRK(EX) 35,717 35,717 0
o=t 10,715
Al 25,002
301 Lt A= 35,717 35,717 0
o=t 10,715
Al 25,002
01 A3 B & A 46 2 35,717 35,717 0
OESHAOSES MEHXS 35,717,000 35,717
o= 10,715
Al 25,002
HESAEH JIBI RN (EX) 3,000 0 3,000
= 600
Al 2,400
301 et A= 3,000 0 3,000
& 600
Al 2,400
01 Al B & X 26 2 3,000 0 3,000
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2A: 41
B 88 U OlS=XEN
Sel: OIS=XSH CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 1,377,976
= 203,484
Al 203,484
01 Al B & A 46 2 1,784,944 0 1,784,944
Oots=% K& 1,784,944 000& 1,784,944
= 1,377,976
o= 203,484
Al 203,484
ESANE 2K 18,451,211 18,065,735 385,476
= 7,485,685
& 7,426,869
Al 3,538,657
Helold 2dX 286,560 334,560 A 48,000
201 YEt2 | 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
OBt 2Y| 2,000
0 BESYHEZX E MEEE RY
2,000,000& 2,000
==l 1,000
o HEOIE g2FX 1,000,000 1,000
202 044l 1,980 1,980 0
01 2Ll 1,980 1,980 0
OEEXNE g4 1,980, 000& 1,980
301 et A= 140,700 140,700 0
01 Al E & A 462 140,700 140,700 0
OZII2IE Helold SAXN H08H K&
140,700,000 140,700
307 2iz2to| A 110,880 103, 880 7,000
11T A EXAIEEX 110,880 103, 880 7,000
OEF0 sotsia 7,230,000 7,230
O 0lE &t A 1| 74,250,000 74,250
O0Ne0ld ot Z=H Jrdl X
22,400,000 22,400
O 0ld HIIels =42 X& 7,000,000 7,000
401 Al HI L 2 THHI 30,000 50,000 A20,000
01 Al& B 29,676 50,000 N 20,324
O=2Z22 02018 HES(ZH, MY, )
30,000,000 x98.92% 29,676
03 Al 20| 324 0 324
O=2Z22 02018 HES(ZH MY, gX)
30,000,000 x1.08% 324
2SDXY 0AY NA(LX) 4,550,244 4,950,283 400,039
= 2,275,122




M OMIED
B 9 OlS=2XEA
o9l BRAE 2YNH CERED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 1,137,561
Al 1,137,561
307 2iz2to| A 4,550,244 4,950,283 A 400,039
= 2,275,122
&< 1,137,561
Al 1,137,561
11T A EXAIEEX 4,550,244 4,950,283 A 400,039
OEsnAR oA X 4,550,244 ,000& 4,550,244
= 2,275,122
& 1,137,561
Al 1,137,561
BSNAA HRMH KN (EXWAH) 204,372 0 204,372
= 102,186
o=} 51,093
Al 51,093
301 et A= 204,372 0 204,372
= 102,186
& 51,093
Al 51,093
01 M EXE 2562 204,372 0 204,372
OBESUER YR X (XA
204,372,000& 204,372
= 102,186
o= 51,093
Al 51,093
BESNANA HLRME K (6Al 0l EXWAL) 38,928 0 38,928
= 19,464
& 9,732
Al 9,732
307 QI2t0| & 38,928 0 38,928
= 19,464
& 9,732
Al 9,732
11 A EXAIEEX 38,928 0 38,928
OESWNE2A HRME X (6Al 015 SXZ WA}
) 38,928,000 38,928
= 19,464
o=} 9,732
Al 9,732
0~2Hl EE22(EX) 5,571,000 6,366,926 ANT795,926
= 3,621,000
= 780,000
Al 1,170,000
307 QI2t0| & 5,571,000 6,366,926 795,926
= 3,621,000
= 780,000
Al 1,170,000
11T A EXAIEEX 5,571,000 6,366,926 795,926
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AN GEIEY
HE: 2] 2 OIS=XEZ
el BEFAE 29X cet )
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
O0-2H ESZ(Ht2HMX&)  5,571,000,000& 5,571,000
= 3,621,000
< 780,000
Al , 170,000
35M Sl BEEX2(BX) 4,802,982 2,874,480 1,928,502
= 4,802,982
307 21201 A 4,802,982 2,874,480 1,928,502
< 4,802,982
11T MISRASER 4,802,982 2,874,480 1,928,502
O34 =eltd E=s= X3 1,600,994,000& 1,600,994
< 1,600,994
O4-5M SFelHd ES=XF 3,201,988,000& 3,201,988
< 3,201,988
r¥dsL" NAANG(BEX) ,461,400 1,972,621 A511,221
= 950,000
< 255,700
Al 255,700
301 L2 LS ,461,400 1,972,621 Ab511,221
= 950,000
= 255,700
Al 255,700
01 MEIBZE 06z ,461,400 1,972,621 A511,221
OO{RI0IF DIOISOIE ¥S4+E X
1,461,400,000& ,461,400
2 950,000
< 255,700
Al 255,700
OHelold 2ENA(BEX) 55,252 58,814 A 3,562
= 27,626
< 13,813
Al 13,813
307 glz2tol & 55,252 58,814 AN 3,562
2 27,626
< 13,813
Al 13,813
11T MISXAISEEX 55,252 58,814 A 3,562
O w7 26,500,000 26,500
= 13,250
< 6,625
Al 6,625
OsHENWHE0E XE29Hl 15,852,000 15,852
= 7,926
< 3,963
Al 3,963
OsUHEANS=SXNYEANE0IE 29I
12,900, 000& 12,900
= 6,450
< 3,225

_33_




2H: HEIED
B 88 U OlS=XEN
o9l BRAE 2YNH EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 3,225
Helold W BExus(EX) 2,400 3,260 A 860
= 1,200
< 600
Al 600
307 glz2tol & 2,400 3,260 A 860
= 1,200
< 600
Al 600
11T M SXASE EX 2,400 3,260 A 860
OEsnIA B0 2,400,000& 2,400
= 1,200
< 600
Al 600
2IH(ANAUSE)N(BEX) 43,816 43,588 228
= 21,908
< 10,954
Al 10,954
307 21201 A 43,816 43,588 228
= 21,908
< 10,954
Al 10,954
11T MISXASEX 43,816 43,588 228
OAMZLRESE E=X3 43,816,000 43,816
= 21,908
< 10,954
Al 10,954
S3EOH0IE 2HH(EX) 256,000 223,860 32,140
= 128,000
< 64,000
Al 64,000
307 21201 A 256,000 223,860 32,140
= 128,000
< 64,000
Al 64,000
11 ALS S XAEE = 256,000 223,860 32,140
O3380E0d XA 256,000, 000& 256,000
= 128,000
< 64,000
Al 64,000
SR MM N (ESnHY 2RSAEMNL 525,860 531,279 A5,419
8l) (2 %)
= 262,930
< 131,465
Al 131,465
301 Lt A3z 525,860 531,279 25,419
= 262,930
= 131,465
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2N
X ZH -
L= B

el

HH 2
A0 o ox

4 It = 1)
2 orsEXNsd
4 23 X2

-

=

>

Ml
H0

Al

SN P SA(EN) - MBAY - BES

Off &t 24

=
i

2

131

,465

S
oo
)
kJ
]
o
rJ
10
I
oy

= Falull 525,860,000&

= W

525

525
262
131
131

,860

,860
,930
,465
,465

531,279

N5,419

20 H2HE NE(RASBHE ) (EX)

=z N H

22,499
11,249
5,625
5,625

22,499

=z N H

22,499
11,249
5,625
5,625

22,499

e NE(WAHEHAFI
22,499,000&

10

x
DEEEET
)

= N W

22,499

22,499
11,249
5,625
5,625

22,499

2 HRMH N (SELSIDA SE22%

= W

104,167

50,000
15,625
38,542

108,768

A4,601

= W

104,167
50,000
15,625
38,542

108,768

A 4,601

tSE2f+¢ 104,167,000&

= N H

104,167

104,167
50,000
15,625
38,542

108,768

A4,601

SSDA HSMHLAHI(EX)

Al

400,110

120,033
280,077

341,537

58,573

H

Al

340,110

102,033
238,077

341,537

A1,427

340,110,000&

2l

Al

340,110

340,110

102,033
238,077

341,537

AT1,427

307 21201 &

H

Al

60,000

18,000
42,000

60,000
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2N
X ZH -
L= B

el

HH 2
Ho Ho ox
bl

>
>y
i ey

(@)
M2 =

on
08
Hﬁo -
=0

>

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

A S XA E X
X

ONE0ld ExE=20 X

60,000,000&

H

Al

60,000
60,000

18,000
42,000

m
=)
i}
Mo
02
[
65
s
ot
[
H
P

H

Al

55,000

11,000
44,000

57,515

N2,515

307 glztol &

= M

55,000

11,000
44,000

57,515

A2,515

1A SXAIE E =

O0Z0IE 2 (Y - Hehdl)

= M

55,000

55,000

11,000
44,000

57,515

A2,515

H

Al

23,821

7,146
16,675

19,962

3,859

307 gl2tol ™

t

Al

23,821

7,146
16,675

19,962

3,859

=
o
I
>
>
18]
HT
o

@
£l
ror
(Y}
nE
]
>
ha]
o

23,821,000&

= M

23,821

23,821

7,146
16,675

19,962

3,859

O

2
1
b
=
e
r
=)
0
=2}
v
=}
A
pall
o
A0
02
m
y

H

Al

1,800

540
1,260

3,353

A 1,553

307 21201 &

2l

Al

1,800

540
1,260

3,353

A 1,553

A S XA E X

Os0E 22t - JIES0ld Xt

= H

1,800

1,800

540
1,260

3,353

A 1,553

o
=
i
rg
o
=
x
H
P

= MW

30,000
15,000

4,500
10,500

174,929

A 144,929

= N W

30,000
15,000

4,500
10,500

174,929

A 144,929

30,000,000&

30,000

30,000
15,000

174,929

A 144,929
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HH 2

=l
= 2 ots=EAsd
SANE 2EXH

SN EB S (3H) - NEAY - BES il 2
== 4,500
Al 10,500
Y JuEss JF(EX) 15,000 0 15,000
== 4,500
Al 10,500
307 QI2t0| & 15,000 0 15,000
= 4,500
Al 10,500
11 AMIASXAEE X 15,000 0 15,000
2284 JjHEs2 I 15,000,000& 15,000
& 4,500
Al 10,500
AEE 367,674 338,092 29,582
= 304,000
Al 63,674
CEAEE MdH 29 63,674 63,674 0
201 et A b 3,674 3,674 0
01 At 22l ] 1,000 1,000 0
O=2 | 1,000
0 EEYAEIE 2FA 1,000, 000& 1,000
02 3524t 2,674 2,674 0]
O Xt & | 2,674
o CEAEHEMYE INEFSANH(2E, NHsSIHA,
S54dl) 2,674,000& 2,674
301 dEtE A= 60,000 60,000 0
01 M EXEE G2 60,000 60,000 0
O AEE 20tE T8 29|
60,000,000& 60,000
XN SEAEE SetAtd 22 XN (EX) 304,000 274,418 29,582
= 304,000
101 21 21d| 130,367 129,667 700
= 130,367
03 I HLsZ22 N 67,983 0 67,983
OUSSEAMUIATE2R2A 2124H|
61,233,000& 61,233
= 61,233
OAtel 22 s & &0 6,750,000& 6,750
= 6,750
04 JIZtHI2E2XNSEE 62,384 129,667 NB7,283
QOIS ESAHHIANR2RA 01AHH|
55,634,000& 55,634
= 55,634
OAtdl 22 s & &0 6,750,000 6,750
= 6,750
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AN GEIEY
B 9 OlS=2XEA
Sol: CEAEE (el x2)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 15,500 11,451 4,049
= 15,500
01 At 22l 15,000 10,451 4,549
OBt =gl 15,000
o CEHAEHEUWEH 2EE8 7Y & EE2=
M= 14,000, 000& 14,000
= 14,000
o = &l 1,000,000& 1,000
= 1,000
02 =224l 500 1,000 A 500
O=322<LHA 500
o EEAEENH 29 500,000& 500
= 500
202 04l 7,000 6,500 500
= 7,000
01 = LH YI 7,000 6,500 500
OAtell2el 2 Ws S0 7,000,000& 7,000
= 7,000
301 L2 A= 150,633 126,300 24,333
= 150,633
01 MEIBZE 06z 75,823 61,000 14,823
O=0fg 228 24| 75,823,000 75,823
= 75,823
09 EAAHIE &S 17,500 18,000 A 500
O=3AHE L HEBE 5 17,500, 000& 17,500
= 17,500
11IIEtEA S 57,310 47,300 10,010
O20E Zx 08 2A==E 57,310,000 57,310
= 57,310
405 XtatE SHI 500 500 0
= 500
01 AR ESFH S 500 500 0
OEEAEREHH 227Y 500,000& 500
= 500
Eus & gXxtel XN 692,874 611,544 81,330
= 232,052
J| 81,820
< 76,536
Al 302,466
F=Es2 HEu=29Y 215,630 203,030 12,600
WS Z20d g 29 206,730 195,130 11,600
201 £B-2dH| 20,560 19,560 1,000
01 At 22l 13,000 12,000 1,000
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AN GEIEY
M du=s ¥ Liel XN
Sl 2FE2 HHDRRY CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
DETIENET] 11,257
0IHIS UM 27 B HMAH
70,000 +70H x4 2 1,960
0OAME +AM 2T 2ABH MH
1,000, 000& 1,000
oOMEBES Y HMAZE P& 2,346,000 2,346
o BAZEE Y (MYI =5 )
1,863,000 1,863
o St&EX P 2,900,000& 2,900
o SASMdIIS g & +<
500& #2JH 33| x565 168
o Ol&ET BAIY HE2TY
50,000& *6H »23] 600
o D Zel(ZH we ¢ 2el)
420,000& x13] 420
O=&l 1,743
o a3l JFRFZ 1,743,000 1,743
02 =224l 7,560 7,560 0
OZZ23LHA 1,860
o SAIJA ALEZ 25,000& 123 300
oA MNEZ 100,000& 12 1,200
o JtAADD YU & EalHl 30,0003 «128 360
OAEZHI S 5,700
o dsl& AIZ&EH |XE= 2,000,000& 2,000
o llot: =8 200,000& = 11CH 2,200
oM=E8g &=+ ¥ 2HUM S
62,5003 =244 1,500
202 oddl 2,100 2,100 0
01 = LH o4 1l 2,100 2,100 0
OEus 29 2= 1,400,000 1,400
Od&8uns 29 a4 700,000& 700
206 M= Hl 640 640 0
01 = tl 640 640 0
O+ U =01 0BT 72 2
30,000 x83| 240
O A=S4F P2 400,000& 400
301 et Az 179,580 172,580 7,000
09 #HALAHIZ &S 1,500 1,500 0
OSH &L LZ#HA Z2IrA AU 24
1,500, 000& 1,500
MIEE4d3 178,080 171,080 7,000
O0ELE ZA=Z(3)HUS 154,560
o I Ot=BH(1,28tH) 70,000% »== 23] x485= 6,720
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CEPIE S
Heuws & gXxtel XN
+FEE2 0HDS2Y o HE)
SN FHE - B(BA) - MRAY - BHES il 2
o 2IH8t 35,000 »3=33| x48= 5,040
o RIt2gt 35,0003 »==33| x48=F 5,040
o MEe| 70,000& »== 13| x48= 3,360
o EIHH 70,0003 »==23| «48== 6,720
o &t= 70,0003 »=23| x48= 6,720
o 2R 70,0003 »==23| «48== 6,720
o M4 E X 70,0003 »== 13| «48= 3,360
o & XIZ0 70,0003 »==23| 485~ 6,720
o 2T 70,0003 »==23| «48== 6,720
oLkciua 70,000 »==23] x485 6,720
o EE 70,0003 »==23| «48== 6,720
o Jtotg Ed& 70,000 »== 23] x485= 6,720
o A&JIE 70,0003 »==23| «48== 6,720
0 ALXCHA 35,000 »==33| 48 5,040
o delHA 35,0003 »==23] x48=F 3,360
o MEAN 70,0003 »=23| «48== 6,720
o &0 B3ux 70,0003 »==23| «48== 6,720
o B (0F2H) 70,000 »==23| «48== 6,720
o MEH(0F2}) 70,000& »== 13| x48= 3,360
o 2013 (0F2H) 70,0003 »==23| 48 6,720
o HA&II3(0k2H) 35,000 »==33| x48= 5,040
o YETHEUA(OF2F) 35,0009 *3=33 #48= 5,040
o ZA0tE 70,0003 »F=23| x48= 6,720
o AL ZEX 35,0003 »==33| x48=F 5,040
o A AILXI = 70,000& »== 13| x48= 3,360
o B2 & 70,0003 == 13| «48== 3,360
o JE=ZN 70,0003 »== 13| x48= 3,360
OHdns UHASE A= 23,520
o M3t X% AL 70,0003 »==33| «48== 10,080
o StA Z el At 70,000 »== 23] x485= 6,720
o Zolx=EA 70,0003 == 13| «48== 3,360
o 48eclud 70,000% == 13| x485= 3,360
405 XHoHE S HI 3,850 250 3,600
01 et EFHSHI 3,850 250 3,600
ONHEN I, MY =& X7 ¢ 3,850
o MK (Z=0l) 1,540, 0002 = 1CH 1,540
o MIItH (Al 2,310,000 = 1CH 2,310
WEIIXM st 2,000 1,000 1,000
206 M= Hl 2,000 1,000 1,000
01 24l 2,000 1,000 1,000
Ost=0u= Wbl 10,000& =100 1,000
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AN GEIEY
g ddus & 2iel N
Sl 4ZE2 HUNS2Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJI3E HEZRY 20,0002 x50 4 1,000
SZMAE MAIS L BHSI 6,900 6,900 0
201 Lt 4,400 4,400 0
03 &Ar2 I 4,400 4,400 0
O=2d &3 Al 4,400,000 4,400
301 et A Z 2,500 2,500 0
09 AL HIZA S 2,500 2,500 0
OHSTANE NASAR & AL AHE4
2,500,000& 2,500
Hegol solg 24 700 700 0
oelolsolgedy 700 700 0
405 TtobH S| 700 700 0
01 et EFSFHSHI 700 700 0
S0l HE & 2727¢ 700,000& 700
gL xel X 476,544 407,814 68,730
= 232,052
J| 81,820
< 76,536
Al 86,136
MHE NE2L(0EMZLoIHdHRE)(EX) 218,944 160,814 58,130
= 109,472
= 54,736
Al 54,736
101 @124l 176,624 126,480 50,144
= 88,312
< 44,156
Al 44,156
03 RIHAZZ 2+ 25,944 0 25,944
OFZEAA 228 ¥ AHESE EXHES
25,944,000 25,944
= 12,972
< 6,486
Al 6,486
04 JIZHHZ22XNHSE+ 150,680 126,480 24,200
OFZEAA 228 ¥ AHESZ EXHES
104,420,000& 104,420
= 52,210
< 26,105
Al 26,105
OFZEAHAN 8SH X ws0H
25,300,000 25,300
= 12,650
< 6,325
Al 6,325
OFSEAHAMN HEE 4,400,000& 4,400
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VRS S
Codus 2 2ie XH

ot
S odERel X

0

SN ZH-S(SA) - HRAY

ESS

=

i
2

OHIE A2 XA

= Hn

16,560,000&

= HnH

2,200
1,100
1,100
16,560
8,280
4,140
4,140

201

e
s
Mo
02
=

=z MW

37,820
18,910
9,455
9,455

23,820

01 At

&

we 4o
=)
o

Qe 4

(@]
W
e o

03

PN

(il

¥ o
He
>
o
]
]
>
2

+>||

7,830,000&

= 0 H

10,320,000&

= N W

a

3
o
o
m -

P
o 2
J
o U
fon

= N H

18,150
18,150

7,830
3,915
1,957
1,958
10,320
5,160
2,580
2,580

19,670

19,670
9,835
4,918
4,917

4,150

19,670

202 o4 Hl

=z M H

1,500
750
375
375

1,500

01 =LHOHI

OMEHEH FRFaA

1,500,000&

= N

1,500
1,500

750
375
375

1,500

301

1o
3
H
0z
oy

= N H

3,000
1,500
750
750

NT,334

09

02
>

QI
02 re

=

0z
oy

o]

S

b & H

]
>
o
]
ol
>
9

oin

A

4

o [?
S
o U
fol

o
o
-

ﬂ

w

= MW

3,000

3,000
1,500
750
750

NT,334

69,780

780
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SH: OEISD
HE: (4DE 2 ANl K
!

S gL iel XN (cho &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
= 69,780
201 et A | 60,780 44,826 15,954
= 60,780
01 At 22l bl 60,780 6,426 54,354
OXNYNSEY 22 L FMLY
60,780,000& 60,780
= 60,780
202 04| 1,000 1,224 N 224
= 1,000
01 2L Y| 1,000 1,224 N224
OguNEssEd =4 1,000,000& 1,000
= 1,000
301 dEtE A= 8,000 15,300 A7,300
= 8,000
09 HAIAH EA = 8,000 0 8,000
O&YguNe=dA WESH € =24 8,000,000 8,000
= 8,000
MEHEH NG (XEdxel HEAAH)(BEX) 66,000 66,000 0
= 52,800
= 6,600
Al 6,600
301 Bt A= 66,000 66,000 0
= 52,800
= 6,600
Al 6,600
11 JIEtE2 &= 66,000 66,000 0
ONY HHHCEHM 29 66,000, 000& 66,000
= 52,800
& 6,600
Al 6,600
HAUMWHAEFHAXNF(XXEH) (A DX 81,820 75,000 6,820
XA )(E=X)
Dl 81,820
101 @121 8] 51,000 47,120 3,880
Il 51,000
04 JIZtHI2E2EXNSE > 51,000 47,120 3,880
OXIYAGA 0124 Y 40282 8 8EE 2
49,000, 000& 49,000
J| 49,000
O ASA 2SH L D=0Hl 2,000,000 2,000
Jl 2,000
201 et A b 22,760 27,880 AN5,120
Dl 22,760
01 At 22l ] 15,760 12,360 3,400
OB 2H| 15,760
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M 08I ED
M du=s ¥ Liel XN
el o g Xel XA (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o dHaY Ty 2Y% 15,760,000& 15,760
| 15,760
03 A2 Z I 7,000 15,520 A 8,520
Oaday Tz Ay 7,000,000& 7,000
| 7,000
202 O4dl 1,000 0 1,000
| 1,000
01 S LHAYI 1,000 0 1,000
oZcag 29 g2F2 1,000, 000& 1,000
| 1,000
206 M= Hl 4,000 0 4,000
| 4,000
01 MHZ 4l 4,000 0 4,000
OXCAEY T2 &AIK ST MBFL(20
000 +200% ) 4,000,000& 4,000
| 4,000
301 L2 A Z 3,060 0 3,060
| 3,060
09 HALAHIEA S 3,060 0 3,060
O&3day T8 FIHA A28
3,060,000& 3,060
| 3,060
OAFg a4 (BEX) 24,000 21,000 3,000
< 7,200
Al 16,800
101 @124 dl 24,000 16,800 7,200
< 7,200
Al 16,800
4 JI2ZHHZ22XEES 24,000 16,800 7,200
OHYEAUA L HANEA 2SHY|
24,000,000& 24,000
< 7,200
Al 16,800
o4 Fgola Matus(EX) 3,000 3,000 0
< 1,500
Al 1,500
201 LBH2E| 2,000 2,000 0
< 1,000
Al 1,000
01 At 22l 2,000 1,000 1,000
OWEHYA MEtns 2,000,000& 2,000
< 1,000
Al 1,000
301 L2 A F 1,000 1,000 0
< 500
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SH: OEISD
HE: (4DE 2 ANl K
!

S gL iel XN (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 500
09 HALAHIE& S 1,000 0 1,000
O FUA MEWS 1,000,000 1,000
< 500
Al 500
JIgH HWERI ISME(BEX) 3,000 3,000 0
< 1,500
Al 1,500
201 Let2d] 3,000 3,000 0
< 1,500
Al 1,500
03 &AL Z I 3,000 3,000 0
OJIgH HERD ASAM(2AEE S)
3,000,000& 3,000
< 1,500
Al 1,500
O stE4a 3 XA (EX) 10,000 10,000 0
< 5,000
Al 5,000
402 RIZ2HXt201 ™ 10,000 10,000 0
< 5,000
Al 5,000
02 RIZEXt 2 AL EZ (OIS ) 10,000 10,000 0
OWAZRSINS SHIMEALY 10,000, 000& 10,000
< 5,000
Al 5,000
HAE2IAZH (LI 28,920 28,200 720
Jl23&dl 28,920 28,200 720
JI2ZHI (A=) 28,920 28,200 720
202 oddl 24,000 24,000 0
01 SLHOIYI 24,000 24,000 0
OZE=Z 0 100,000& 20 » 12& 24,000
203 YR =&l 4,920 4,200 720
04 FN2ELRZ=TH| 4,920 4,200 720
O &L=t 410,000& x12& 4,920
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